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 In figure 3.5(a) When the price of a 
Pomegranate is ` 100. per kg then the amount 
demanded is 250 gms when the price falls to ̀  50 per 
kg then its quantity demand increases to ̀  750 gms. 
This is called expansion in demand. The movement 
from point A to B in the figure depicts expansion of 
demand.

In the Fig 3.5 (b) when the price of 
Pomegranate is ̀  50 per kg the quantity demanded is 
750 gms.  When the  price increases from ` 50 per, 
kg. to ` 100, per. kg., then its quantity demanded 
decreases to 250 gm. Other things remaning 
constant, with the increase in the price there is 
decrease in the quantity demanded. This is called 
contraction of demand. The movement is from 
lower to upper side along the same demand curve.
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Price 10 20 30 40 50 60 70
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long run chages in production. On basis of time, 

changes in factors of production & their ratios are 

considerd.

Difference between short run and long run 
production function-

The main difference between short run and  

long run production function is regarding the input 

ratio.In short run, change in production occurs 

according to the conditions of short run production 

function. In short run, the ratio between fixed and 

variable factors  changes with change in 

production.In the long run all the factors of 

production are changed in same proportion or ratio. 

The second difference between both types of 

production function is related to change in 

techonology. In the short run, there is no change in 

the given techonology, where as in the long run, 

techonology can be changed.

On the basis of time there are two types of 

production function-

1. Production function of fixed proportion.

2. Production function of variable proportion.

Production function of fixed proportion-

In the long run all the factors of the production 

are variable. The long run production function is 

also called “fixed proportion production function.” 

and is related to “ law of returns to scale”.

In the phrase “return to scale” it is necessary to 

know the meaning of scale. Here ‘Scale’ means a  

unit of measurement like metre, litre, kilogram, feet, 

etc. For instance a man buys 1 metre of cloth but if 

the  un i t  o f  measurement  i s  changed  to 

centimetres.then it is said that the man bought 100 

centimetres of cloth. In this way with change in unit 

(scale) we show the measurement in the changed 

unit (scale).

 Similarly for instance, 5 labourers with 2 acre 

of land produce 10 quintals of  wheat. Hence here 

acre is the unit (scale) of measurement of land. 

Quintal is unit (scale) of measurements of output of 
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(Q) TFC TVC TC AFC AVC SAC SMC

0 10 0 10 - - -

1 10 8 18 10 8 18 8

2 10 14 24 5 7 12 6

3 10 18 28 3.33 6 9.33 4

4 10 24 34 2.5 6 8.5 6

5 10 34 44 2 6.8 8.8 10

6 10 50 60 1.67 8.33 10 16
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D = 10,000 Crores Depriciation

=10,000 Crores

year =5,000 Crores

year =5,000 Crores

individuals =2,000 Crores

Fines =2,000 Crores































1 1

20RR %
=

Liabilities (Rs.)

Stage Deposites CRR (20 %)
Loan/ Derived 

Demand

I 10000 2000 10000-2000 = 8000

II 8000 1600 8000-1600 =6400

III 6400 1280 6400-1280 = 5120

IV 5120 1024 5120-1024 = 4096

V 4096 819.2 4096-819.2 = 3276.8

………  ……… ……….

Total   Td = 50000   Rr = 10000   Dd = 40000

Assets

Credit Creation Process By Bank











3. Moral persuation:-
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